
Subject: Re: vector subscripts not working
Posted by  on Mon, 26 May 2014 06:57:45 GMT
View Forum Message <> Reply to Message

Den måndagen den 26:e maj 2014 kl. 07:42:34 UTC+2 skrev jiaxinxin:
>  Hi,Everyone
>  
>  why the routine gives me an error message:
>  
>  % Array subscript for X must have same size as source expression.

You could just do "help" for both the left hand side and the right hand side of the assignment that
gives the error.

Like

IDL> help, b[125:624,125:624], a

or

IDL> help, cc[*,i*20+1:i*20+19], data[150:*,120+7:138+7,i*4+10]

depending on which line has the error.
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